USER
L ASSEMBLY

"GUIDE

PROFESSIONAL
ROOF ACCESS LADDER




THIS ASSEMBLY
GUIDE IS INTENDED
TO PROVIDE YOU
WITH STEP-BY-STEP
INSTRUCTIONS ON
HOW TO ASSEMBLE
YOUR PRo ROOF
LADDER WITH EASE
AND SAFETY.

You should read and understand all
notes and diagrams, before
commencing assembly. Personnel
should be qualified or competent
to assemble the PRo Roof Ladder.
Remember to do a risk assessment
of the work to be carried out prior
to commencing.

This roof ladder shall only be used
according to this manual without
any modification.

Identifying Components 3

1N

Ridge Hook Assembly

Bearer Bar Assembly 7




PRo ROOF LADDER COMPONENTS

+ 4

LFI | User Assembly Guide | PRo Roof Ladder



+ 4

RIDGE HOOK
ASSEMBLY PROCEDURE

TOOLS REQUIRED
13mm spanner and a 10mm spanner

Position one ridge hook (Item 1)
next to the ladder and align
holes ‘A’ with those on the ladder.

Insert 2x M8 x 50 bolts (Item 10) through the hook
and ladder and use the M8 washer (Iltem 7) and
M8 nut (Item 6) to fix in place. Do not over tighten.

Insert the two spreader bars
(Item 3) into holes ‘B’.

3.1

Use two M8 washers (Item 7) and
M8 Nuts (Item 6) to loosely secure
spreader bars (Item 3) in place.

LFI | User Assembly Guide | PRo Roof Ladder a4



+

Position the second ridge hook (Item 1)
next to the ladder and align holes ‘A’
with those on the ladder.

4.1
Line up and insert the spreader bars
with holes ‘B'.

4.2

Insert 2x M8 x 50 bolts (Item 10) through
the hook (Item 1) and ladder and use the
M8 washer (Item 7) and M8 nut (Item 6)
to fix in place. Do not over tighten.

Use two M8 washers (Item 7) and
M8 Nuts (Item 6) to secure spreader bars
(Item 3) in place and fully tighten both ends.

Slide the two wheels (Item 5)
with the spacer (Item 4) into
the wheel axle (Item 12).

LFI |

User Assembly Guide

PRo Roof Ladder



+

Line one end of the wheel axle
(Iltem 12) with hole ‘C’.

71

Secure in place with M6 x 25 bolt
(Item 11), star washer (Item 13) and
M6 washer (Item 9) at both ends.

Line up ridge bearer (Item 2) on the outside
of the ridge hooks (Iltem 1) with holes ‘D’.

8.1

Secure in place with M6 x 25 bolt (Item 11)
an M6 washer (Item 9) on both sides and
an M6 nut (Item 8).

VIDEO GUIDE
AVAILABLE

SCAN ME
TO WATCH

LFI |

User Assembly Guide

PRo Roof Ladder



+ 4

BEARER BAR
ASSEMBLY PROCEDURE

Single section ladders have 4-6 bearers all the same.
Double section ladders have 3-5 bearers for the lower part, and 1 deeper one for the upper part.

Line up the bearer holes with the ladder holes. Secure in place with 4x M6 x 40 bolt,

an M6 washer and an M6 nut.

4

M6 WASHER
AND NUT

I
M6 x 40 BOLT

LFI | User Assembly Guide | PRo Roof Ladder 7



LFI

LFI - Ladder & Fencing Industries
(Newent) Ltd.

Horsefair Lane, Newent,
Gloucestershire GL18 1RP

Email: info@lfi-ladders.co.uk
Sf=britishladders.co.uk () X) (in © @

% IR SCAFFOLDING
= ) AssociATION

e
ASSOCIATION

ARSI PASMA



